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COMPRENSIÓN ORAL 

              

             Apellidos: ………………………………………………………………………………………………… 

             Nombre: ………………………………………………………………………………………………….. 

Marca con una X lo que corresponda: 
 

  Alumno/a OFICIAL  (Indica el nombre de tu profesor/a tutor/a durante  
el curso  2013‐2014:   ………………………………………..………………………………….) 

  Alumno/a LIBRE      Grupo: ........................... 

INSTRUCCIONES PARA LA REALIZACIÓN DE ESTE EJERCICIO: 
o Duración: 45 minutos 
o Este ejercicio consta de dos tareas. Deberás realizar las dos. 

o En  la  tarea 1 vas a escuchar tres veces un documento sonoro y deberás seleccionar  
una de las tres opciones (A, B o C) que se corresponda con lo que dice la grabación. 

      Obtienes:  1  punto  por  cada  respuesta  correcta;  0  puntos  por  cada  respuesta 
incorrecta o no dada. El número 0 es un ejemplo. 

o En la tarea 2 vas a escuchar tres veces un documento sonoro con cuatro extractos (1‐  
4), que deberás relacionar con cada uno de  los 10 enunciados según  lo que dice  la 
grabación. A cada extracto le puede corresponder uno o más enunciados. 

      Obtienes:  1  punto  por  cada  respuesta  correcta;  0  puntos  por  cada  respuesta 
incorrecta o no dada. La letra A es un ejemplo.  

o Muy  importante:  al  final,  comprueba  que  has marcado  una  sola  opción  (como  en  el 
ejemplo); si marcas dos opciones, se anula la respuesta a esa pregunta. 

o No escribas en los cuadros destinados a la calificación de las tareas. 

o Sólo se admiten respuestas escritas con bolígrafo azul o negro. 

 
NO ESCRIBAS AQUÍ 

 
 

PUNTUACIÓN DEL EJERCICIO: _____ / 20 

CALIFICACIÓN:    ⃞ Superado   ⃞ No Superado    
 

 
 

              NIVEL AVANZADO           INGLÉS 

SEPTIEMBRE 2014   B2 
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PRUEBAS UNIFICADAS DE CERTIFICACIÓN 
2014 

  PUNTOS:            / 10 

TAREA 1 -10 puntos-: You will  hear William  Hague,  Foreign  Secretary  of  Great  Britain,  talking  about 
poaching. For questions 1‐10, choose the option (A, B or C) that fits best according to what you hear. Write your 
answers in the box provided. Number 0 is given as an example. You will hear the recording three times.                                    

 

                                                        Poaching                                   Source: www.cnn.com  ANSWER 

 0. The building where the interview is taking place... 
A. ...hosted an important meeting in the past. 
B. ...is located in the British town of Lancaster.  
C. ...was erected in 1979. 

 
0 

 
A 

 

✔ 

 

 1. Poaching... 
A. ...generates more money than any other activity around the world. 
B. ...is a major problem in most third world countries.  
C. ...is the topic this new conference is focused on.
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 2. The 1989 law... 
A. ...aimed at banning the illegal sale of wild animals.  
B. ...was not really effective. 
C. ...was passed as a result of a previous anti‐poaching conference. 
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 3. As a result of the meeting,... 
A. ...a new series of measures are going to be implemented. 
B. ...a plan to protect endangered species will be accomplished. 
C. ...only African countries have agreed on fighting against illegal trade.
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 4. The countries that attended the conference reached an agreement on... 
A. ...controlling borders to arrest poachers. 
B. ...fighting against organised crime.  
C. ...getting rid of intercepted products.

 
4 

   

 5. Why has this issue become so important recently? 
A. Because governments are running out of time.  
B. Because most African species are endangered. 
C. Because the sale of ivory is increasing in developing countries.
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 6. Poaching is also... 
A. ...encouraging other crimes in the countries where it takes place. 
B. ...leading to conflict between some countries. 
C. ...the activity used by terrorist groups to fund their operations.
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 7. China is... 
A. ...promoting the protection of animal species. 
B. ...showing an interest in fighting against the problem. 
C. ...the biggest seller of ivory in the world.
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 8. Why is China thought to be dealing in rhino horn?  
A. Because Chinese people are keen on this product.  
B. Because it is used as a remedy in this country. 
C. Because some officials have reported on it.
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 9. William Hague thinks that...  
A. ...cooperation between governments will be difficult to achieve. 
B. ...governments must set an example and take the initiative. 
C. ...the situation won't be different in the future.
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 10. The problem in some countries is... 
A. ...that consumers don't know about the origin of the products they use. 
B. ...that information and education won't be enough to solve the problem. 
C.   ...the lack of engagement of the media.
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TAREA 2 -10 puntos -: You will  hear  four  extracts  from  a  radio  programme  about  technology. 
Match headings B‐K with extracts 1‐4. Then write the number in the box provided. There can be ONE or 
MORE headings per extract. Letter A is given as an example. You will hear the recording three times. 

                                                                                                                                                      Source: NPR Technology Podcast 
 

 

 

 

 

 

 

 

 

 

 

Technology News 

 

EX
TR

A
C
T 

 

A. A collection of voices of celebrities   1  ✔ 

B. A way to express dissatisfaction     

C. An interesting collection of foreign material     

D. Anonymous currency transfers     

E. Discovering forgotten tracks     

F. More identifiable than image     

G. Pioneering regulation of technology     

H. Providing only a short fragment     

I. Recording new material     

J. Technology linked to crime     

K. Technology that can save your life     

PUNTOS:            / 10 


